FrEW 9o M A(3,-2), B(4,5), C(-1,3)2 Al HAHOZ o=
HPAHY ABCD o Y2 H34H D o] FHEE (x, y) 2t & o x+y
o] = F-shoiet

5 L
=%



°f

I

e

el

o =

X2 —ay? —4x+2y + k=0 ©°] ¥ L}EH

F 4]

173

o




<A

)

o] ohd 7L

=

oo

® TF AFE] BY
@ 9 olste] B0l BY

® 10 317 Ao]9] 4 3 BE7}2 Q) 7]oFR40] BY
@ 35023 2 59 29

©® 52 W i A7} 9 A5 1Y






5. S ATA Boltsted n(AuB) =26< ™, n(B)=15,n(ANB) =
8 ©|9 n(A) ¢ == Fstofzt.

5 J=X
=%



6.

~p—o~g o Fol HE W, o= F

D qg—-p @ p-yq

@ ~p-oyq ® po~g



7.

a>0% o, 2a+2i9,] EAESARL)
a

@0 @1 @2



U

S}
=}

ROIA RE 2

o =
=R

o, o

S}
=

ROz

Lo
U=

9 %

I

A

]

d

<

=l

(x=1)?

®y

@ y=-x+4

®y=x

®y=0

@ x=y>+4



sfat.

W, a+b o] TS

o]
=



10.

Al A (0,2), (3,-3), (-3,a) 7}
T-ohA?

B



11. 24 3x+4y = 0 ol Bk, A A=7F2 <

Ao BE yam9

@D 3x+4y+6=0
® 3x+4y+10=0

® 3x+4y-10=0

@ 3x+4y+8=0

@ 3x+4y-8=0

A
1

of



12. A y=x+k7F 9 +)* = 40 oste] A= A PQ 2] Hol7t 2
o, ko] 3F2?
@ =5 @ +6 B +7



Ape Potele,

9y



14.

214 5x + 12y + k = 0 & 24 y = x of tjsto] o
ATt o] AAoA A (1, 1) 7kAe] A=zt 2 o o, 4
Zkol 9t oot

5 L
=%

=
o
S
s

% =

k ©]

A
]

o

i}

=
L



15. ZE2A y =22 AP o gt giAols AAYY ZEH y =
2+ 4x—-27FE QT ol o A P 9 HuEL9

@ (1, 1) @ (1, 2) ® (-1, 1)
@ (-1, -1) ® (1, -1)



A (v, y) 8 (x—a,y-b) 2 %7+ BPolsol st
flx,y) = 0°] Y= =FL2 f(x +a,y+b) = 0 ©]
Uet = TP o2 o] gt
Sl (xy) EA (x-2,y+1) 2 &7]= H3o|Fof 9]s}o]
A (2,-1) 2 4 (0,0) &2 o] 53t
B A (x,y) B (—x—y) 2 2715 diFol 5ol oJste] y =
f(x) ol Y= =2 y = —f(-x) ©] YEFH= =52
2 o]F 3ttt
A A (x,y) B (v, x) 287 Aol &5t f(x,y) =
0 o] et =2 f(y,x) = 0 o] YEt&= o=
o|5git,
O 7,24 @ 7,23 ® 71,4%,4
@ &,%,% ® 75,44



17. ;ﬂjﬂ?ﬂﬁl

H B

ZFets] st

o] REAS A, Boll Histe] (A- B)U (AN B) N BE

=

® AnB @ A-B OB @ AUB ® A



18.




19. % AH A(-1, 0), B(2, 0) C2HE Aol H|7} 1 : 29 H P o
tiste] o2 <H7]> & &2 Ag BT A=EH?

@ aPAB 9] glo]9] Qg2 3 o]t}
© <PBA 9] |} 7]+ 60° ot}
© A P 9] AF 9] Zoli= 4 ot

ORQ) @ 9,0 ® 9,6
@ ©,© ® 0,6,



9|

ofig

,xeSpolg g, ot

1
2



@ a+ Vb= Va+b
® a® + b3 >aba+b)
@ a’-1>a

® (a+b)(b+c)(c+a) = 8abc






23.

S wo] Zoj7t 291 HA7HY ABCD o] Hiitel 3 4 P7} 2PA” =
PB’+PD’ & WEAZ of, A P o] 2H5|9] Lol

@D 1 @ V2 ® 2 @ 5 ® 22



ol ST U (x-1)2 432 = 1] Hol&

®x+\/§y:1 @\/§x+y:1 @x—\/gy:—l
@ V3x-y=-3 ® x+y=2



Sx| [ grr] skl 1= ppr = ot =

Fof2. fr=fofrtolat @, f2006(3) o] gk Antelz}? (g,
[x] & x Bt 322 42 2 A4)

25. flx) =




